Revision PPQu Unit 2a: Groups 1 and 7 and Unit 2b: Acids, Bases and Salts MARK SCHEME

Q1.
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Total marks for Q1: 7
 (Q06 4CH1/1C, June 2021) 
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Total marks for Q2: 9
(Q03 4CH1/1CR, Jan 2020) 



Q3.
	(a)
	(i) red

(ii) H+

(iii) Bubbles / fizzing / effervescence / powder disappears / colourless solution forms

(iv) barium carbonate can neutralise an acid (so is a base)
is insoluble (so is not an alkali)

(v) to ensure all the acid has reacted
	



REJECT carbon dioxide produced
REJECT colour change



REJECT reacts with an acid

ACCEPT cannot dissolve
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	(b)
	M1: filter the excess barium carbonate

M2: heat the solution to evaporate some of the water OR until crystals start to form


M3: leave to cool (so crystals can grow)

M4: filter to remove the crystals

M5: leave the crystals in a warm place to dry

	ACCEPT to remove the leftover solid

ACCEPT until solution is saturated
REJECT evaporate the solution
REJECT evaporate all the water






ALLOW leave to dry
ALLOW dry using filter paper
ALLOW dry in a warm oven

If solution is evaporated to dryness in M2, only M1 can be scored
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Total marks for Q3: 11
(Q08 4CH1/1C, Nov 2021) 
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Question

. Answer Notes
@ () | Any 3 from
M1 effervescence/ bubbles/fizzing
M2 moves moves on surface
scores M2 and M3
M3 floats
M4 disappears/gets smaller ALLOW dissolves
MS vapour trail/steam
IGNORE melts/heat
produced
IGNORE any reference
to indicators.
(ii) | An explanation that tinks the following two points.
M1 the universal indicator turns purple/blue
M2 (because) OH- /hydroxide ions are present ALLOW an alkaline
solution /an alkali is
produced / a solution
of high pH is formed
(i) | 2 + 2HO > 2LOH + H ALLOW multiples and
fractions
M1 all formulae correct
M2 balancing of correct formulae M2 dep on M1
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Question

Answer. Notes Marks
number
(@) Most Z, ALLOW Z 1
A Y
Least X; X
ALLOW lower case
lottors
IGNORE size of number
IGNORE any names
given
®) bromine "ALLOW bromine water T
OR bromine solution /
Br/Br,
REJECT bromide
© O [Fluorine) gas / vapour 3
E pou
(chlorine) range between -150°C to 10°C inclusive
(Astatine) dark grey / black REJECT blue-black
© @) 1

C - the halogens have the same number
of outer shall slectrons.

The only correct answer is C because the halogens
are in group 7 and have similar reactions because
they have the same number of electrons in their
outer shells.

Ais not correct because the fact halogens are non-
metals does not make them react in a similar way.
Bis not correct because the fact halogens are
molecules does not make them react in a similar
way.

D is not correct because elements in the same
period have different numbers of outer shell
oloctrons and react differently.
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(@)

Chlorine is toxic / poisonous’

IGNORE harmful /
dangerous / irritant
IGNORE any reference
to products

(a)(ii)

M1 FaCly

M2 2Fo + 3Cl, —2FeCl,

M2 rest of the equation balanced

"ALLOW correct chargos
on the ions

REJECT incorrect
capitals

REJECT largo or super-
script 3

ALLOW multiples or
fractions for M2

M2 dep on M1





